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RAN-7142
S. Y. B.Com (External) Examination

March / April - 2019

Advanced Accounting & Auditing - I

(Old or New to be mentioned where necessary)

k|Q“p : / Instructions

(1)	

“uQ¡ v$ip®h¡g  r“ip“uhpmu rhNsp¡ DÑfhlu ‘f Ahíe gMhu.
Fill up strictly the details of  signs on your answer book

Name of the Examination:

 S. Y. B.Com (External)

Name of the Subject :

 Advanced Accounting & Auditing - I

Subject Code No.: 7 1 4 2

Seat No.:

Student’s Signature

(2)	 â’d âï“ afrS>eps R>¡.

(3)	 S>ê$f S>Zpe Ðep„ dlÒh“u NZsfu L$fp¡.

1.		  k|Q“p dyS>b S>hpb gMp¡.			   03

	 (1)	 âq¾$ep“y„ DÐ‘pv$“ 4250 A¡L$dp¡ kpdpÞe bNpX$ 10% AkpdpÞe bNpX$ : kpdpÞe 

bNpX$“p„ 1/2. âq¾$epdp„ v$pMg L$f¡g A¡L$dp¡ ip¡^p¡.

	 (2)	 bk“u k„¿ep			  :	 5	 03

		  drl“p“p„ L$pdL$pS>“p„ qv$hkp¡	 :	 25

		  v$f¡L$ bk“u v$ffp¡S>“u fpDÞX$ V²$u‘	 :	 04

		  b¡ õ’m hÃQ¡“y„ A„sf	 :	 20 qL$.rd.

		  bk“u hl“ ndsp		 :	 50 ‘¡k¡ÞS>f

		  kpdpÞe dykpafu		  :	 hl“ ndsp“p 90%

		  ‘¡k¡ÞS>f qL$gp¡duV$f A“¡ Ly$g qL$gp¡duV$f ip¡^p¡.
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	 (3)	 “uQ¡“u dprlsu ‘f’u dpgkpdp“ a¡fbv$gu v$f A“¡ a¡f bv$gu dyv$s ip¡^p¡.	 03

	 	 (i)	 iê$Aps“p¡ õV$p¡L$	 ê$p. 10,000

		  (ii)	 hprj®L$ Mfuv$u		 ê$p. 1,70,000

		  (iii)	 ìeh[õ’s Mfuv$u	 ê$p. 1,50,000

	 (4)	 A¡L$ Å¡bdp„ dpgkpdp“ A“¡ dS|>fu A“y¾$d¡ ê$p. 1200 A“¡ ê$p. 800 ’i¡. L$pfMp“p  
MQ® dS|>fu“p„ 50% g¡M¡ A“¡ hluhV$u MQ® L$pfMp“p ‘X$sf“p„ 25% g¡M¡ Dd¡ep® bpv$  
Å¡ ‘X$sf ‘f 25% “ap¡ g¡hp¡ lp¡e sp¡ Å¡b“u h¡QpZ qL„$ds iy„?	 03

	 (5)	 A¡L$ L$fpf D‘f sp.01.01.2018 “p„ fp¡S> L$pd iê$ ’ey„ A“¡ sp.31.12.2018 ky^u  
s¡“p ‘f ê$p. 6,00,000 “p¡ Ly$g MQ® ’ep¡. sp.31.12.2018 “p„ fp¡S> âdpZ‘Ó  
ê$p. 6,80,000 dpV¡$“y„ dþey„ R>¡. âdprZs L$pd“u qL„$ds“p„ 25% g¡M¡ “ap¡ NZpe R>¡. 
rb“âdprZs L$pd“u fL$d“u NZsfu L$fp¡.			   02

	 (6)	 âÐen dpgkpdp“ ê$p. 4,00,000 (S>¡ âÐen dS|>fu“p„ 50% R>¡)	 02

		  -	 L$pfMp“p ‘fp¡n MQ® âp’rdL$ ‘X$sf“p 40% R>¡.

		  -	 Ap¡qak MQ® L$pfMp“p ‘X$sf“p„ 20% R>¡.

		  -	 “ap“p¡ v$f : h¡QpZ qL„$ds ‘f 20% R>¡.

			   h¡QpZ qL„$ds ip¡^p¡.

2.		  kusp rg.A¡ 2018“p„ hj®dp„ 10,000 A¡L$dp¡“y„ DÐ‘pv$“ A“¡ h¡QpZ L$ey®. S>¡“u 
rhNsp¡ “uQ¡ dyS>b R>¡. hõsy“u A¡L$dv$uW$ h¡QpZ qL„$ds ê$p. 390 R>¡.	 17

		  rhNs				   ê$p. 

		  dpgkpdp“			   13,00,000

		  âÐen dS|>fu			  7,00,000

		  âÐen MQp®			   1,00,000

		  L$pfMp“p MQ® (40% Qrgs)	 7,00,000

		  Ap¡qak MQp® ([õ’f)	 2,80,000

		  h¡QpZ MQp® (70% Qrgs)	 3,20,000

						      34,00,000

		  hj® 2019 v$fçep“ 50,000 A¡L$dp¡“y„ DÐ‘pv$“ A“¡ h¡QpZ A„v$pS>¡g R>¡. h^pfp“u dprlsu 
“uQ¡ dyS>b R>¡.

	 (1)	 âÐen dS|>fu A¡L$dv$uW$ 20% OV$i¡.

	 (2)	 [õ’f L$pfMp“p„ MQ®dp„ ê$p. 3,00,000 h^pfp¡ ’i¡.

	 (3)	 Ap¡qak MQp® 25% h^i¡.
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	 (4)	 Qrgs h¡QpZ MQp® A¡L$dv$uW$ ê$p. 0.80 h^i¡.

	 (5)	 ‘X$sf ‘f 25% “ap¡ A„v$pS>¡g R>¡.

		  b„“¡ hj®“p Ly$g A“¡ A¡L$dv$uW$ ‘X$sf“p„ ‘ÓL$p¡ s¥epf L$fp¡.

A’hp

		  fp^p L„$‘“u rgrdV¡$X$ A A“¡ B A¡d b¡ âL$pf“u hõsyAp¡ blpf ‘pX¡$ R>¡. dpgkpdp“ 

A“¡ dS|>fu MQp® “uQ¡ dyS>b R>¡.

A B

dpgkpdp“ (A¡L$dv$uW$) ê$p. 12.50 ê$p. 7.50

âÐen dS|>fu (A¡L$dv$uW$) ê$p. 10 ê$p. 6

		  L$pfMp“p MQp® dS|>fu“p„ 100% R>¡. Ap¡qak MQp® L$pfL$p“p“u ‘X$sf ‘f 25% R>¡.  

A “p„ 200 A¡L$dp¡ A“¡ B “p„ 500 A¡L$dp¡“y„ DÐ‘pv$“ L$fhpdp„ Apìey„ A“¡ v$f¡L$ A“y¾$d¡ 

ê$p. 50 A“¡ ê$p. 30“u qL„$ds¡ h¡Qhpdp„ Apìep lsp. iê$Aps“p¡ L¡$ ApMf“p¡ õV$p¡L$ “’u.

		  Å¡ L$pfMp“p“p¡ Mf¡Mf MQ® ê$p. 4,800 A“¡ Ap¡qak MQ® ê$p. 4,200 lp¡e sp¡ ‘X$sf  

A“¡ “pZpL$ue rlkpb“p„ Qp¡‘X$pdp„ v$ip®h¡g ‘qfZpd“y„ d¡mhZu ‘ÓL$ s¥epf L$fp¡.

3.		  ‘ph®su V²$pÞk‘p¡V®$ L„$‘“u ‘pk¡ “uQ¡ dyS>b“p„ hpl“p¡ R>¡.	 17

hpl“p¡“u k„¿ep hZ®“

25 5 V$““u V²$L$p¡

25 4 V$““u V²$L$p¡

60 3 V$““u V²$L$p¡

40 2 V$““u V²$L$p¡

v$f¡L$ V²$L$ qv$hk“u kf¡fpi 6 V²$u‘ L$f¡ R>¡. v$f¡L$ V²$u‘dp„ kf¡fpi 5 qL$.du. “y„ A„sf L$p‘¡ R>¡.  

s¡“u i[¼s“p 90% S>¡V$gy„ hS>“ JQL¡$ R>¡. hprj®L$ kf¡fpi NZsp„ 10% S>¡V$gu V²$L$  

v$ffp¡S> qf‘¡fdp„ lp¡e R>¡. dpghl““y„ L$pd v$ffp¡S> Qpg¡ R>¡, s¡“p¡ dprkL$ MQ® “uQ¡  

dyS>b R>¡.

		  kyrâV¡$ÞX$ÞV$“p¡ ‘Npf	............................................. ê$p. 2,000

		  4 ap¡fd¡““p¡ ‘Npf v$f¡L$“p¡....................................... ê$p. 1,000

		  150 X²$pChf“p¡ ‘Npf v$f¡L$“p¡...................................... ê$p. 400

		  300	dS|>f“p¡ ‘Npf v$f¡L$“p¡....................................... ê$p. 200

		  dpg kpdN°u		  ........................................... ê$p. 20,000
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		  ‘¡V²$p¡g MQ® (bmsZ“p¡ MQ®).............................ê$p. 3,60,000

		  Ap¡Cg N°uT		  ........................................... ê$p. 80,000

		  V$pef V$éyb“p¡ MQ®	 ........................................... ê$p. 36,000

		  N¡f¡S> cpXy„$		  ........................................... ê$p. 24,000

		  N¡k-huS>mu		 ........................................... ê$p. 10,000

		  ‘fQ|fZ MQ®		 ........................................... ê$p. 21,130

		  apmhZu ‘pÓ kdpfL$pd rhcpN“p¡ dprkL$ MQ®............. ê$p. 30,000

		  drl“p“p„ 30 qv$hk NZu“¡ A¡L$ V$“ qL$.du.“u Ly$g ‘X$sf ip¡^p¡.

A’hp

		  dlpL$pgu L$ÞõV²$¼i“ rgrdV¡$X$ ê$p. 30,00,000 dp„ A¡L$ ‘yg bp„^hp“p¡ L$fpf gu^p¡. L$pd 

‘|ê„$ ’pe s¡ds¡d âdprZs L$pd“p 75% fp¡L$X$ dmi¡ A“¡ bpL$u“p„ L$fpf ‘|fp¡ ’pe Ðepf¡ 

Ap‘hp“p„ R>¡.

		  L$fpf sp.01.01.2017 dp„ iê$ ’i¡. 31 du qX$k¡çbf 2017 “p„ fp¡S> ‘|fp ’sp„ hj® 

dpV¡$ “uQ¡ dyS>b dprlsu dmu R>¡.

		  L$fpf Ap‘“pf ‘pk¡’u sp.31.12.2017 ky^udp„ fp¡L$X$ dmu ê$p. 6,75,000 (75% 

âdprZs L$pd“p)

		  rb“ âdprZs L$pd (31.12.2017) “p„ fp¡S> ê$p. 60,000 h‘fpep rh“p“p¡ õ’m 

‘f dpgkpdp“ (31.12.2017) ê$p. 19,000 õ’m ‘f àgpÞV$ (31.12.2017) 

(Okpfp bpv$) ê$p. 51,000, Q|L$hhp“u bpL$u dS|>fu (31.12.2017) ê$p. 5,200, 

2017 “p¡ A“pds “ap¡ ê$p. 50,000.

		  sp.31.12.2018 “p„ fp¡S> ‘|fp ’sp„ hj® dpV¡$ L$fpf A„N¡ “uQ¡ dyS>b“u dprlsu dm¡ 

R>¡.

							       ê$p. 

		  dpgkpdp“ Apàep¡		  ...................................... 3,40,000

		  buÅ L$fpf“¡ dpgkpdp“ Apàep¡...................................... 64,000

		  buÅ L$fpf ‘pk¡’u dpgkpdp“ Apìep¡............................ 1,90,000

		  L$fpf“¡ gNsp ‘fp¡n MQ®	 ......................................... 90,000

		  õV$p¡k® ‘f dpg kpdp“ ‘fs	 ........................................... 6,400

		  L$fpf“p„ õ’m ‘f’u Qp¡fu ’e¡g dpgkpdp“ (d|.qL„$ds¡).............. 5,600



RAN-7142 ]	 [ 5 ]	 [ P.T.O. ]

		  dpgkpdp““y„ h¡QpZ (d|.qL„$ds ê$p. 13,600)..................... 16,000

		  dS|>fu Q|L$hu			  ...................................... 1,80,400

		  buÅ MQp®Ap¡		  ......................................... 23,600

		  buÅ¡ h^pfp“p¡ àgpÞV$ Apàep¡ (sp.01.09.2018).............. 24,000

		  âdprZs L$pd (31.12.2018)...............................20,00,000

		  L$fpf“p„ õ’m ‘f h‘fpep rh“p“p¡ kpdp“ (31.12.2018).... 47,850

		  dS|>fu Q|L$hhp“u bpL$u (31.12.2018).......................... 14,800

		  àgpÞV$ ‘f OV$su S>su bpL$u“u ‘Ý^rs’u 15% Okpfp¡ NZhp“p¡ R>¡. rb“ âdprZs  

L$pd“u ‘X$sf ê$p. 54,000 R>¡. S>¡“¡ ‘pR>m’u âdprZs L$fhpdp„ Apìey„ R>¡. S>¡  

ê$p. 60,000 L$p¡ÞV²$p¼V$f 2/3 cpN“p¡ “ap¡ fp¡L$X$“p„ ^p¡fZ¡ “ap“yL$kp“ Mps¡ gC Åe R>¡.  

s¡d ^pfp¡.

		  s¥epf L$fp¡ :

		  (1)	 L$fpf Mpsy„		  (2018 “p„ hj® dpV¡$)

		  (2)	 Qpgy L$pd Mpsy„	 (2018 “p„ hj® dpV¡$)

4.		  gÿdu L„$‘“u“p„ DÐ‘pv$“ rhcpNdp„ A¡L$ hõsy ÓZ âq¾$ep A, B A“¡ C dp„’u ‘kpf 

’pe R>¡. âq¾$ep A dp„ A¡L$dv$uW$ ê$p. 20 “u qL„$ds¡ L$pQp¡ dpg v$pMg L$fhpdp„ Apìep¡ lsp¡. 

âq¾$ep C “p A„s¡ Mf¡Mf DÐ‘pv$““p„ A¡L$dp¡ 8892 lsp. dprlsu “uQ¡ dyS>b R>¡.	 17

rhNs âq¾$ep A âq¾$ep B âq¾$ep C

kpdpÞe bNpX$ 3% 4% 3%

Mf¡Mf bNpX$ 4% 5% 2.5%

kpdpÞe bNpX$“u

A¡L$d v$uW$ D‘S> ê$p. 2.5 5.00 10.00

‘fQ|fZ dpgkpdN°u 10.000 15,000 5,000

dS|>fu 50,000 80,000 65,000

âÐen MQp® 10,410 8,680 10,240

âq¾$ep ‘X$sf Mpsp„ s¡dS> AkdpÞe bNpX$ A“¡ AkpdpÞe h^pfp“p„ Mpsp ‘Z b“php¡.
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A’hp

	 (A)	 A¡L$ L„$‘“udp„ A, b, L$ ÓZ DÐ‘pv$L$ rhcpN R>¡ A“¡ n A“¡ e k¡hp rhcpN R>¡. k¡hp 

rhcpN e “p„ MQp® ku^u dS|>fu“p„ âdpZdp„ A“¡ k¡hp rhcpN n “p„ MQp® 5:3:2 “p„ 

âdpZdp„ DÐ‘pv$“ rhcpN“¡ apmhhpdp„ Aph¡ R>¡.		  9

MQ®
DÐ‘pv$“ rhcpN k¡hp rhcpN

A  b  L$ n e

ku^u dS|>fu 30,000 45,000 60,000 15,000 30,000

ku^p¡ dp.kp. 15,000 30,000 30,000 22,500 22,500

õV$pa“u k„¿ep 3,000 4,500 4,500 1,500 1,500

‘p¡CÞV$ 20 32 8 12 8

fp¡L¡$g S>Áep (Qp¡.aŸV) 300 500 100 100 100

rhS>mu-qL$gp¡ hpµV$ 12,000 9,000 6,000 3,000 3,000

diu“fu“u qL„$ds (ê$p.) 60,000 40,000 30,000 10,000 10,000

		  ‘fun MQ® “uQ¡ dyS>b R>¡.

						      ê$p.

		  ‘phf	 ...................................... 1,100

		  rhS>mu.........................................200

		  õV$p¡k® MQ®......................................800

		  L$d®Qpfu L$ëepZ MQ®...................... 3,000

		  Okpfp¡	.................................... 30,000

		  dfpds MQ®................................ 6,000

		  cpXy„$ L$fh¡fp.....................................550

		  kpdpÞe MQ®............................. 12,000

		  (A)	 ‘fp¡n MQ®“u Sy>v$p Sy>v$p rhcpN hÃQ¡ apmhZu L$fp¡.

		  (b)	 âÐen dS|>fu“p„ Ap^pf¡ ‘fp¡n MQ®“p¡ v$f “½$u L$fp¡.
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	 (b)	 vy$Np® A¡L$ L$pe® ‘|Z® L$fhp dpV¡$ 20 L$gpL$ g¡ R>¡, S>¡ Ap‘¡g kde“p„ 80% R>¡. L$gpL$ v$uW$  

h¡s“ v$f ê$p. 60 R>¡. A¡L$ ‘¡v$pi“u dpgkpdN°u“u ‘X$sf ê$p. 400, âÐen MQp® ê$p. 80  

R>¡ A“¡ L$pfMp“p ‘fp¡n MQ® âÐen dS|>fu“p„ 140% NZhpdp„ Aph¡ R>¡.	 08

		  (1)	 kde h¡s“

		  (2)	 L$pe® h¡s“

		  (3)	 l¡ëku ep¡S>“p A“¡

		  (4)	 fp¡h¡“ ep¡S>“p dyS>b ‘¡v$pi“u L$pfMp“p ‘X$sf ip¡^p¡.

5.		  “uQ¡“u dprlsu ‘f’u e„Ó "X' “p„ ep„rÓL$ L$gpL$ v$f“u NZsfu L$fp¡.	 17

	 (1)	 e„Ó“u qL„$ds ê$p. 10,25,000, D‘ep¡Nu Apeyóe 10 hj®, c„Npf qL„$ds 50,000, Np¡W$hZu 

MQ® ê$p. 25,000.

	 (2)	 e„Ó "X' “p„ L$pdv$pf L$ëepZ MQp® dprkL$ ê$p. 500.

	 (3)	 e„Ó "X' “p¡ ‘phf h‘fpi hprj®L$ ê$p.1,00,000.

	 (4)	 e„Ó "X' “y„ hudp âurded 3%.

	 (5)	 b¡ L$pdv$pfp¡“¡ dS|>fu 4 e„Óp¡ dpV¡$, v$f¡L$“¡ dprkL$ ê$p. 12,000.

	 (6)	 cpX$p Mfuv$ làsp¡ (10% ìepS> krls)	 ê$p. 93,500.

	 (7)	 4 e„Óp¡“p¡ kdpfL$pd MQ® hprj®L$ ê$p. 33,200.

	 (8)	 ky‘fhpCTf“p¡ ‘Npf dprkL$ ê$p. 48,000, ky‘fhpCTf 3/4 kde b^p e„Óp¡“p„ ky‘frhT“dp„ 

Ap‘¡g R>¡.

	 (9)	 L$pfMp“p“y„ cpXy„$ dprkL$ ê$p. 12,000 L$pfMp“p“u Ly$g S>Áepdp„ A¡L$ kfMp Ly$g 4 e„Óp¡ 

Np¡W$h¡gp R>¡.

	 (10)	 e„Ó "X' “p¡ ‘phf h‘fpi L$gpL$ v$uW$ 2 eyr“V$ R>¡. eyr“V$ v$uW$ cph ê$p. 10.

	 (11)	 e„Ó "X' “u rhS>mu bÑu qÜdprkL$ ê$p. 1000.

					     A’hp

	 (A)	 A„rbL$p rg. A¡L$ ‘¡v$pi“y„ DÐ‘pv$“ L$f¡ R>¡. hj® 2017-18 dpV¡$ “uQ¡“u rhNsp¡ A¡L$rÓs 

L$fhpdp„ Aphu R>¡.	 			   09

		  (1)	 ‘¡v$pi“u hprj®L$ dp„N	 18,000 A¡L$dp¡.

		  (2)	 v$f¡L$ hfv$u dyL$hp“p¡ MQ®	 ê$p. 200

		  (3)	 A¡L$dv$uW$ hprj®L$ hl“ MQ®	 ê$p. 20

		  (4)	 dprkL$ kf¡fpi h‘fpi	 1500 A¡L$dp¡
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		  (5)	 dprkL$ Ap¡R>pdp„ Ap¡R>p¡ h‘fpi	 900 A¡L$dp¡

		  (6)	 ‘y“: hfv$u kde 1 ’u 5 drl“p.

		  D‘f“u dprlsu ‘f’u NZp¡.

		  (A)	 Apr’®L$ hfv$u S>Õ’p¡.

		  (b)	 hj®dp„ d|L$hp“p Ap¡X®$f“u k„¿ep.

		  (L$)	 ‘y“: hfv$u k‘pV$u.

		  (X$)	 Nyê$Ñd k‘pV$u.

		  (C)	 gOyÑd k‘pV$u.

		  (a)	 kf¡fpi õV$p¡L$ k‘pV$u (Apr’®L$ hfv$u S>Õ’p“¡ Ap^pf¡)

		  (N)	 kgpdsu S>Õ’p¡.

	 (b)	 “uQ¡ Ap‘¡gu dprlsu ‘f’u NZsfu L$fp¡.	 		  08

		  (1)	 dpgkpdp“ MQ® rhQg“.

		  (2)	 dpgkpdp“ cph rhQg“.

		  (3)	 dpgkpdp“ h‘fpi rhQg“.

			   Mfuv$¡g dpg kpdp““p¡ S>Õ’p¡	 6,000 A¡L$dp¡.

			   Mfuv$¡g dpg kpdp““u qL„$ds	 ê$p. 18,000

		  A¡L$ V$“ dpg“p„ DÐ‘pv$“ dpV¡$ dpg kpdp““p¡ âdpZ S>Õ’p¡ 60 A¡L$dp¡.

		  dpg kpdp““p¡ âdpZ cph 2.50 ê$p.

		  dpg kpdp““p¡ iê$Aps“p¡ õV$p¡L$ “’u.

		  ApMf“p¡ dpg kpdp““p¡ õV$p¡L$ 1,000 A¡L$dp¡.

		  Ap kde v$frdep“ Mf¡Mf DÐ‘pv$“ 160 V$“.

6.		  V|„$L$“p¢^ gMp¡. (Nd¡ s¡ Qpf)			   16

		  (1)	 dS|>fu v$f “½$u L$fhp“p„ rkÝ^p„sp¡.

		  (2)	 âdprZs L$pd A“¡ rb“ âdprZs L$pd.

		  (3)	 ‘X$sf rlkpbu ‘Ý^rs“p„ apev$p.

		  (4)	 ‘X$sf“p„ d|m sÒhp¡.

		  (5)	 ep„rÓL$ L$gpL$ v$f“u ‘Ý^rs.

		  (6)	 auap¡ A“¡ guap¡ ‘Ý^rs.
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ENGLISH VERSION

Instructions: (1)	 Question one is compulsory.

			   (2)	 Show all necessary calculations.

Q.1. 		  Write answers as per instructions:

1.	 Production of process 4250 units, normal wastage: 10%, abnormal  
wastage: ½ of normal wastage. Find out units introduced in the  
process.				    [03]

2.	 No of buses  :  5, days operated in the month :  25, daily round trips  
of each bus :  4, distance between two place :  20 kms. capacity of the  
bus :  50 passengers, normal passenger travelling:90% of the capacity.  
Find out passenger kms and total kms.	 [03]

3.	 From the following information calculate inventory turnover ratio  
and inventory turnover ratio and turnover period.	 [03]

	 i)	 Opening stock Rs 10,000.

	 ii)	 Purchases (Annum) Rs 1, 70,000.

	 iii)	 Adjusted purchases Rs 1, 50,000.

4.	 In a job, material and wages will be Rs 1200 and Rs 800 respectively. 
Factory expenses are added at 50% of wages and office expenses are 
added at 25% of factory cost. If 25% profit on cost is expected what 
will the selling price of job?	 [02]

5.	 The contract was commenced on 01/01/2018 and total expenses on  
this contract up to 31/12/2018 were Rs 6,00,000. On 31/12/2018  
certified work is Rs 6,80,000. 25% profit calculated on certified work. 
Find out amount of non certified work.	 [02]

6.	 Direct material Rs 4,00,00 (which is 50% of direct wages)	 [03]

	 Factory overheads 40% of prime cost.

	 Office overheads 20% of factory cost.

	 Rate of profit 20% on selling price.

	 Find out selling price.
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Q.2.		  Sita Ltd produced and sold 10,000 units during 2018.	 17

	 The particular are as under :

	 Selling price per unit is Rs 390 

	 Particulars		                          Rs.
	 Materials					     13,00,000
	 Direct wages				   7,00,000
	 Direct expenses		  1,00,000
	 Factory expenses (40% of variable)	 7,00,000
	 Office expenses (fixed)	 2,80,000
	 Selling expenses (70% of variable)	 3,20,000

									         34,00,000

	 During the year 2019 production and sales are estimated at 50,000  
units.

	 Additional information is as under.

1.	 Direct wages per unit will decrease by 20%.

2.	 Fixed factory expenses will increase Rs 3,00,000.

3.	 Office expenses will increases by 25%.

4.	 Variable selling expenses will rise by Rs.0.80 per unit.

5.	 25% profit estimated on cost.

	 Prepare cost sheet showing total and permit cost for both years.

OR

	 Radha Co Ltd. Produces two products A and B. The cost of material  
and labour are as under:

A B
Material ( per unit) Rs 12.50 Rs 7.50
Direct wages ( per unit) Rs 10 Rs 6

	 Works overheads are charged at 100% of wages and office overheads 
at 25% of the works cost. 200 units of A and 500 units of B were 
produced and sold at Rs 50 and Rs 30 per unit respectively. There is  
no opening or closing stock.

	 If the actual works expenses amount to Rs 4,800 and office expenses  
to Rs 4,200. Then prepare Reconciliation statement of the result  
shown in cost and financial accounts.
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3. 		  Parvati’s Transport Company has following fleet of vehicles.	 [17]

No of vehicles Specification

25 5 tonne truck

25 4 tonne truck

60 3 tonne truck

40 2 tonne truck

	 On an average each truck makes six trips a day and each trip covers  
an average distance of 5 kms. Each truck carries weight which is only 
90% capacity. Taking an annual average 10% of the truck are laid up  
for repairs every day. The conservancy work is carried on daily.
The monthly charges incurred are as follows.
Salary of the superintendent..........................................................Rs. 2,000
Salaries of 4 Transport foreman each..........................................Rs. 1,000
Wages of 150 drivers each..............................................................Rs. 400
Wages of 300 labourers each...........................................................Rs. 200
Consumable stores	........................................................................Rs. 20,000
Petrol (cost of fuel)...................................................................Rs. 3,60,000
Oil grease etc		 ........................................................................Rs. 80,000
Cost of tyres, tubes......................................................................Rs. 36,000
Rent of garage	 ........................................................................Rs. 24,000
Gas and Electric charges.............................................................Rs. 10,000
Miscellaneous expenses................................................................Rs. 21,130
Overhead charges allocable..........................................................Rs. 30,000

	 Assuming that a month consist of 30 days calculate the cost per tonne 
kilometer.

OR

	 Mahakalis Construction limited understock a contract to construct a  
bridge at a contract price of Rs 30, 00,000. The contractee has to  
make progress payment of 75% of the work certified and the  
remaining amount is to be paid on completion of contract.

	 The contract was commenced on 1st January 2017 and the following 
information is available in respect of the contract for the year ended  
31st December 2017.

	 Amount received from contracee up to 31/12/2017 Rs 6,75,000 (75%  
of work certified) uncertified work on (31/12/2017) Rs 60,000 materials 
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unused at site on (31/12/2017) Rs 19000. Plant at site on 31/12/2017 
(depreciated value) Rs 51,000.

	 Wages due but not paid on (31/12/2017) Rs 5,200

	 Profit reserved for the year 2017 Rs 50,000.

	 The following information is supplied in respect of contract for the year 
ended 31st December 2018.

					                                              Rs.

Materials supplied	...........................................................................3,40,000

Material transferred to other contract...............................................64,000

Material transferred from other contract.......................................1,90,000

Overhead chargeable to contract.......................................................90,000

Material returned to stores..................................................................6,400

Materials stolen away from site (at cost).........................................5,600

Sale of materials (cost Rs. 13,600)..................................................16,000

Wages paid		  ...........................................................................1,80,400

Other expenses	 ..............................................................................23,600

Other plant issued (01/09/2018)........................................................24,000

Work certified (31/12/2018)..........................................................20,00,000

Material unused at site on (31.12.2018) ........................................47,850

Wages due but not paid on (31.12.2018)........................................14,800

	 Provide depreciation on plant at 15% by diminishing balance method  
the cost of the work done but not certified was Rs 54,000. This was 
certified later for Rs 60,000. Assuming that contractor takes 2/3 profit  
cash basis to profit and loss account.

	 Prepare:

1.	 Contract Account (for the year 2018)

2.	 Work in progress Account (for the year 2018)
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4.		  A product passes through three process A,B and C in department 
of Laxmi company. Raw material were introduced in process of at  
Rs. 20 per unit.		  [17]

	 Actual production at the end of process C were 8,892 units. The 
information is as under.

Particulars Process A Process B Process C
Normal wastage 3 % 4 % 3 %
Actual wastage 4 % 5 % 2.5 % 
Yield of wastage
Per unit Rs 2.50 5 10 
Sundry materials 10,000 15,000 5,000 

dS|>fu 50,000 80,000 65,000 

Direct expenses 10,410 8,680 10,240 

	 Prepare the process accounts with also abnormal wastage / gain  
accounts.

OR

(a)	 In a factory there are three production department A, B, C and two 
service departments X and Y . The expenses of service department Y 
proportionate to direct wages and department X in the ratio of 5:3:2  
to production department A, B and C respectively.	 9

Particular
Production 
Department

Service 
Department

A B C X Y

Direct wages 30,000 45,000 60,000 15,000 30,000 

Direct material 15,000 30,000 30,000 22,500 22,500 

Number of staff 3,000 4,500 4,500 1,500 1,500 

Lighting point 20 32 8 12 8 

Space occupied ( sq.ft) 300 500 100 100 100 

Electricity ( kw) 12,000 9,000 6,000 3,000 3,000 

Cost of machinery 60,000 40,000 30,000 10,000 10,000 
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	 Overhead expenses are as under:

					     Rs.

Power			   ......................... 1,100 

Electric			   ............................ 200 

Staff expenses	 ............................ 800 

Welfare expenses	 ......................... 3,000 

Depreciation		  ....................... 30,000 

Repairing			  ......................... 6,000 

Rent-taxes		  ............................ 550 

General expenses	 ....................... 12,000 

	 You are required to

	 (1)	 Allocate overheads expenses between different departments

	 (2)	 Determine rate of overhead expenses on the basis of direct labours.

	 b) 	 Durga takes 20 hours to complete the task, which is 80% of time 
allowed. Wage rate per hours is Rs 60. Material cost of a product  
is Rs 400, direct expenses Rs 80 and factory overhead expenses are 
calculated at 140% of direct wages.	 8

	 Find out factory cost according to:

	 1.	 Time wages

	 2.	 Piece wages

	 3.	 Halsey plan and

	 4.	 Rowan plan.

5.		  From the following information calculate machine hour rate for 
machine ‘X’.			  [17]

1.	 Cost of machine Rs 10,25,000, useful life 10 years, scrap value  
Rs 50000. Installation expenses Rs 25000.

2.	 Workers welfare expenses of machine ‘X’ monthly is Rs 500.

3.	 Power consumption of machine ‘X’ yearly Rs 100000.

4.	 Insurance premium of machine ‘X’ 3%.

5.	 Wages of two labours for four machines monthly Rs 12000 each.

6.	 Hire purchase installment (including 10% interest) is Rs 93,500.
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7.	 Repairs and maintenance expenses for 4 machines yearly Rs. 33,200.

8.	 Supervisor salary monthly Rs 48,000. Supervisor spends 3/4 time in 
supervision of all machines.

9.	 Factory rent monthly Rs 12,000, total 4 identical machines are  
installed in total space of the factory.

10.	 Power consumption of machine ‘X’ is 2 units per hour. Rate per unit  
is Rs 10.

11.	 Lighting expenses bi-monthly of machine ‘X’ is Rs 1000.

OR

(a)	 Ambica co manufactures a product. The following particulars were 
collected for the year 2017-2018.	 9

1) 	 Annual demand of product............................................. 18,000 units

2)	 Cost of placing an order........................................................Rs. 200 

3)	 Annual carrying cost per unit..................................................Rs. 20 

4)	 Average usage.................................................1,500 units per month

5)	 Minimum usage.................................................900 units per month

6)	 Re-order period compute from the above................ 1 to 5 month

	 Compute from the above:

	 1.	 Economic order quantity

	 2.	 Number of orders to be placed in a year

	 3.	 Re order level

	 4.	 Maximum level

	 5.	 Minimum level

	 6.	 Average stock level (on the basis of EOQ)

	 7.	 Safety stock level.

(b)	 From the following particulars compute:	 8

	 1. 	 Material cost variance

	 2. 	 Material price variance

	 3. 	 Material usage variance

	 Quantity of materials purchased 6000 units
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	 Value of material purchased Rs 18000. Standard quantity of material 
required per ton of output 60 units

	 Standard rate of material Rs 2.50 per units.

	 Opening stock of material – Nil

	 Closing stock of material 1,000 units

	 Actual output during the period 160 tones.

6.		  Write short notes: (any Four) 	 16

1.	 Principles of determining wage rate

2.	 Certified work and uncertified work

3.	 Advantages of costing

4.	 Elements of cost

5.	 Machine hour rate method

6.	 FIFO and LIFO methods.


